VINCENT J. DEROSE T 613 787 3589 vderose@blg.com Borden Ladner Gervais LLP World Exchange Plaza 100 Queen St. Suite 1300 Ottawa, ON, Canada K1P 1J9 T 613.237.5160 F 613.230.8842 blg.com



By electronic filing

October 21, 2014

Kirsten Walli Board Secretary Ontario Energy Board P.O. Box 2319 2300 Yonge Street 27<sup>th</sup> floor Toronto, ON M4P 1E4

Dear Ms. Walli,

Union Gas Limited ("Union")Application to Reduce Certain Penalty Charges Applied to its Direct Purchase CustomersBoard File No.:EB-2014-0154Our File No.:339583-000176

Pursuant to the Board's Decision and Order dated October 9, 2014, we enclose a Cost Claim on behalf of our client, Canadian Manufacturers & Exporters ("CME").

A copy of this Cost Claim has been forwarded to Union as instructed in the Decision and Order.

Please contact me if you have any questions or require any additional information.

Yours very truly,

Vincent J. DeRose

\slc
enclosure
c. Chris Ripley (Union)
Paul Clipsham and Ian Shaw(CME)

OTT01: 6589668: v1



#### Affidavit and Summary of Fees and Disbursements

This form should be used by a party to a hearing before the Board to identify the fees and disbursements that form the party's cost claim. Paper and electronic copies of this form and itemized receipts must be filed with the Board and served on one or more other parties as directed by the Board in the applicable Board order. Please ensure all required (yellow-shaded) fields are filled in and the Affidavit portion is signed and sworn or affirmed.

			Instructions		a had also had a she
- Required data	a input is indicated by yellow-shaded fi	elds. Formulas	are embedded in the form	n to assist with calculation	ons.
- All claims mus	st be in Canadian dollars. If applicable	, state exchan	ge rate and country of init	al currency.	
		Rate	:	Country:	
Being Claimed" Disbursements - The cost claim - A CV for each	etail of Fees and Disbursements Being ) is required for each lawyer, analyst/c " covering the whole of the party's cos n must be supported by a completed A consultant/analyst must be attached u ept as provided in section 7.03 of	consultant and t claim should ffidavit signed unless provided	articling student/paralega be provided. by a representative of the d to the Board as prescribe	il. However, only one " party. ed on the Cost Award Ta	Summary of Fees and riff.
File # EB-	2014-0154	Process	: Union Gas - Applica	tion to Reduce Cer	tain Penalty Charges
Party:	Canadian Manufacturers & Exp	oorters	Affiant's Nan	ne: Vincent J. DeRo	se
HST Numbe	r: 10807 5482 RT0001		_ +	IST Rate Ontario:	13.00%
	Full Registrant		Qua	lifying Non-Profit	
	Unregistered			Tax Exempt	
	Other	$\checkmark$			
			Affidavit		
ι,	Vincent J. DeRose		_, of the City of	Ottawa	

1. I am a representative of the above-noted party (the "Party") and as such have knowledge of the matters attested to herein.

2. I have examined all of the documentation in support of this cost claim, including the attached "Summary of Fees and Disbursements Being Claimed", "Statement(s) of Fees Being Claimed" and "Statement(s) of Disbursements Being Claimed".

3. The attached "Summary of Fees and Disbursements Being Claimed", "Statement(s) of Fees Being Claimed" and "Statement(s) of Disbursements Being Claimed" include only costs incurred and time spent directly for the purposes of the Party's participation in the Ontario Energy Board process referred to above.

4. This cost claim does not include any costs for work done, or time spent, by a person that is an employee or officer of the Party as described in sections 6.05 and 6.09 of the Board's Practice Direction on Cost Awards.

#### Signature of Affiant

Sworn or affirmed before me at the City of	Ottawa	· · · · · · · · · · · · · · · · · · ·
in the Province of Ontario	, on	October 23, 2014
Nothi	×	(date)
Commissioner for taking Affidavits		
()		



#### Affidavit and Summary of Fees and Disbursements

File # EB- 2014-0154

**Process: Union Gas - Application to Reduce Certain Penalty Charges** 

#### Party: Canadian Manufacturers & Exporters

Summary of Fees and Disbursements Being Claimed						
Legal/consultant/other fees	\$5,920.00					
Disbursements	\$66.00					
HST	\$778.18					
Total Cost Claim	\$6,764.18					

Pay	ment	Information
	THUCH IC	IIII OTTIMU OTT

Make cheque payable to: Borden Ladner Gervais LLP

Send payment to this address: Borden Ladner Gervais LLP

Attention: Peter C.P. Thompson, QC World Exchange Plaza 100 Queen Street, Suite 1300 Ottawa, ON K1P 1J9

ſ



### Detail of Fees and Disbursements Being Claimed

File # EB- 2014-0154	Process:	<b>Union Gas</b>	- Application	to Reduce Ce	ertain Penalty Charges
Party: Canadian Manufacturers & E	xporters	Service Pro	ovider Name:	Peter C.P. Tho	mpson, QC
Service Provider Type	(check one)		Year Called to Bar		Completed Years Practising/Years of relevant experience
Legal Counsel	Image: A start of the start		1967	[	45+
Articling Student/Paralegal				-	
Consultant				н	ourly Rate: \$330.00
Analyst					
For Consultant/Analyst:		CV attached		HST Rate Charg	ed (enter %) 13%
		CV provided	within previous	24 months	
S	tatement o	f Fees Beir	ng Claimed	n el compositorio de la compositori	
	Hours	Hourly rate	Subtotal	HST	Total
Preparation	0.6	\$330.00	\$198.00	\$25.74	\$223.74
Technical Conference					
		\$330.00	\$0.00	\$0.00	\$0.00
Preparation Attendance		\$330.00	\$0.00	\$0.00	\$0.00
Interrogatories		\$550.00	\$0.00	ŞU.ŲŲ	Ş0.00
Preparation	3.6	\$330.00	\$1,188.00	\$154.44	\$1,342.44
Responses	1.7	\$330.00	\$561.00	\$72.93	\$633.93
Issues Conference	<i>±.1</i>	\$350.00	<i>\$301.00</i>	<i>Q12.33</i>	<i><i>QQQQQQQQQQQQQ</i></i>
Preparation		\$330.00	\$0.00	\$0.00	\$0.00
Attendance		\$330.00	\$0.00	\$0.00	\$0.00
ADR - Settlement Conference					· · · · · · · · · · · · · · · · · · ·
Preparation		\$330.00	\$0.00	\$0.00	\$0.00
Attendance		\$330.00	\$0.00	\$0.00	\$0.00
Proposal Preparation		\$330.00	\$0.00	\$0.00	\$0.00
Argument					
Preparation	6.4	\$330.00	\$2,112.00	\$274.56	\$2,386.56
Oral Hearing					
Preparation		\$330.00	\$0.00	\$0.00	\$0.00
Attendance		\$330.00	\$0.00	\$0.00	\$0.00
Other Conferences					
Preparation	5.2	\$330.00	\$1,716.00	\$223.08	\$1,939.08
Attendance		\$330.00	\$0.00	\$0.00	\$0.0Ç
Case Management		\$170.00	\$0.00	\$0.00	\$0.00
TOTAL SERVICE PROVIDER FEES			\$5,775.00	\$750.75	\$6,525.75

ľ



### Detail of Fees and Disbursements Being Claimed

File # EB-	2014-0154 Proces	ss: Union Gas - Application	to Reduce Certain	n Penalty Charges		
Party:	Canadian Manufacturers & Exporters	Service Provider Name: Peter C.P. Thompson, QC				
	Statement of D	isbursements Being Claim	ned			
		Net Cost	HST	Total		
Scanning/F	Photocopying: 64 copies @ \$0.25 each	\$16.00	\$2.08	\$18.08		
LPIC Levy S	Surcharge (as in previous cost claims)	\$50.00	\$6.50	\$0.00		
Other:			\$0.00	\$0.00		
TOTAL DISI	BURSEMENTS:	\$66.00	\$8.58	\$18.08		

### Ontario Energy Board COST CLAIM FOR HEARINGS Detail of Fees being Claimed



File #:	EB-2014-01	54							
Process:	Union Gas	ges							
Party:	Canadian Manufacturers & Exporters								
Name:	Peter Thompson								
May 16-14	Drafting, revi cost award e		0.3	Preparation					
Jun 2-14	reviewingInt	errogatori	te to obtain all information on Board's file; es submitted by Board Staff, LPMA and gatories from CME to Union	1.6	Interrogatories Prep				
Jun 3-14	Considering, Union	dictate, re	evise and finalize CME Interrogatories to	1.9	Interrogatories Prep				
Jun 3-14	Considering	email from	n D. Quinn	0.1	Interrogatories Prep				
Jun 18-14	Reviewing Ir	iterrogator	y Responses	1.0	Interrogatory Responses				
Jun 19-14	Reviewing U	nion's Inte	errogatory Responses to NRG	0.7	Interrogatory Responses				
Jun 25-14	Reviewing T	ransAlta's	submissions on its Motion	0.3	Other Conf. Prep				
Jun 27-14	Considering LPMA submi submissions	issions; co	2.9	Other Conf. Prep					
Jun 27-14	Reviewing s	ubmission	s of City of Kitchener	0.2	Other Conf. Prep				
Jun 27-14	Considering	email from	n E. DeMarco	0.1	Other Conf. Prep				
Jul 3-14	Reviewing U Authorities B		ly submissions, supporting Affidavit and	0.9	Other Conf. Prep				
Jul 7-14	Reviewing re	ply submi	ssions	0.4	Other Conf. Prep				
Aug 7-14	Reviewing e	vidence fro	om TCE	0.4	Other Conf. Prep				
Sep 10-14			ment; emails to R. Aiken and D. Quinn; g Points of Argument	1.5	Argument Prep				
Sep 12-14	Reviewing pu Union's Argu finalizing Arg other parties	ment-in-C ument on	4.9	Argument Prep					
Sep 19-14	Sep 19-14 Considering Union's Reply Argument				Preparation				
			Total Hours for Peter Thompson	17.5					
		<u>Hours</u>			Fees				
Preparation		0.6	x \$330.00/hr =		198.00				
Interrogatories	Prep	3.6	x \$330.00/hr =		\$1,188.00				
-		1.7	x \$330.00/hr =		\$561.00				
Interrogatory Responses 1.7 x \$330.00/hr =									

### Ontario Energy Board COST CLAIM FOR HEARINGS Detail of Fees being Claimed



Other Conf. Prep	5.2	x \$330.00/hr =	\$1,716.00
Argument Prep	6.4	x \$330.00/hr =	\$2,112.00
	<b>17.5</b>	Total Fees for Peter Thompson:	<b>\$5,775.00</b>

OTT01: 6581150: v1

ſ



### **Detail of Fees and Disbursements Being Claimed**

File # EB- 2014-0154	Process:	Union Gas	- Application	n to Reduce C	ertain Penalt	y Charges
Party: Canadian Manufacturers & E	xporters	Service Pro	ovider Name:	Vincent J. De	Rose	
Service Provider Type	(check one)		Year Called to Bar		Completed Years of relevant	
Legal Counsel	2		2001		1	3
Articling Student/Paralegal						
Consultant				I	Hourly Rate:	\$290.00
Analyst						
For Consultant/Analyst:		CV attached		HST Rate Char	ged <i>(enter %)</i>	13%
		CV provided	within previous	24 months		
S	tatement o	f Fees Beir	ng Claimed		6	1112
	Hours	Hourly rate	Subtotal	нят	To	tal
Pre-hearing Conference						
Preparation		\$290.00	\$0.00	\$0.00		\$0.00
Attendance		\$290.00	\$0.00	\$0.00		\$0.00
Technical Conference						
Preparation		\$290.00	\$0.00	\$0.00		\$0.00
Attendance		\$290.00	\$0.00	\$0.00		\$0.00
Interrogatories						
Preparation		\$290.00	\$0.00	\$0.00		\$0.00
Responses		\$290.00	\$0.00	\$0.00		\$0.00
Issues Conference						
Preparation		\$290.00	\$0.00	\$0.00		\$0.00
Attendance		\$290.00	\$0.00	\$0.00		\$0.00
ADR - Settlement Conference						
Preparation		\$290.00	\$0.00	\$0.00		\$0.00
Attendance		\$290.00	\$0.00	\$0.00		\$0.00
Proposal Preparation		\$290.00	\$0.00	\$0.00		\$0.00
Argument						
Preparation	0.50	\$290.00	\$145.00	\$18.85		\$163.85
Oral Hearing						
Preparation		\$290.00	\$0.00	\$0.00		\$0.00
Attendance		\$290.00	\$0.00	\$0.00		\$0.00
Other Conferences						
Preparation		\$290.00	\$0.00	\$0.00		\$0.00
Attendance		\$290.00	\$0.00	\$0.00		\$0.00
Case Management	002000	\$170.00	\$0.00	\$0.00		\$0.00
TOTAL SERVICE PROVIDER FEES			\$145.00	\$18.85		\$163.85

### Ontario Energy Board COST CLAIM FOR HEARINGS Detail of Fees being Claimed



File #:	EB-2014-0154								
Process:	Union Gas – Application to Reduce Certain Penalty Charges								
Party:	Canadian Manufacturers & Exporters								
Name:	Vince DeRose								
Sep 19-14	Reviewing Re	eply Argun	0.5	Argument Prep					
			Total Hours for Vince DeRose:	0.5	_				
		<u>Hours</u>			Fees				
Argument Prep	0.5		x \$290.00/hr =	145.00					
		0.5	Total Fees for Vince DeRose:		\$ 145.00				